

$$\lim_{x \rightarrow a} \frac{\phi(x)}{\psi(x)} = \frac{\lim_{x \rightarrow a} \phi(x)}{\lim_{x \rightarrow a} \psi(x)} \quad (\text{like know}) \text{--- (1)}$$

if $\lim_{x \rightarrow a} \phi(x) = 0$ and $\lim_{x \rightarrow a} \psi(x) = 0$

\Rightarrow from (1); $\lim_{x \rightarrow a} \frac{\phi(x)}{\psi(x)} = \frac{0}{0}$ which is

seem to be meaningless. The form of $\frac{0}{0}$ is known as an indeterminate form. Other indeterminate form common use are $\frac{\infty}{\infty}$, $0 \times \infty$, $\infty - \infty$, 0^0 , 1^∞ and ∞^0 .

Theorem or determination of limit of $\frac{0}{0}$ form :-

Let $\phi(x)$ and $\psi(x)$ are be two function which Taylor's expansion are given about $x=a$ and $\lim_{x \rightarrow a} \phi(x) = 0$ and also $\lim_{x \rightarrow a} \psi(x) = 0$

Then $\lim_{x \rightarrow a} \frac{\phi(x)}{\psi(x)} = \lim_{x \rightarrow a} \frac{\phi'(x)}{\psi'(x)}$

Proof :- Taylor's expansion of $\phi(x)$ and $\psi(x)$ about $x=a$ is given by

$$\begin{aligned} \phi(x) &= \phi(a) + (x-a)\phi'(a) + \frac{(x-a)^2}{2!}\phi''(a) + \dots \\ &+ \frac{(x-a)^{n-1}}{(n-1)!}\phi^{(n-1)}(a) + \frac{(x-a)^n}{n!}\phi^{(n)}(a) + \dots \end{aligned} \quad \text{--- (1)}$$

$0 < \theta < 1$

$$\begin{aligned} \varphi(x) &= \varphi(a) + \frac{(x-a)}{1} \varphi'(a) + \frac{(x-a)^2}{2} \varphi''(a) + \dots \\ &+ \frac{(x-a)^{n-1}}{(n-1)!} \varphi^{(n-1)}(a) + \frac{(x-a)^n}{n!} \varphi^{(n)}\{a + \theta_2(x-a)\} \end{aligned}$$

where $0 < \theta_2 < 1$

We have

$$\lim_{x \rightarrow a} \frac{\varphi(x)}{\psi(x)} = \lim_{x \rightarrow a} \frac{\varphi(a) + \frac{(x-a)}{1} \varphi'(a) + \frac{(x-a)^2}{2} \varphi''(a) + \dots + \frac{(x-a)^n}{n!} \varphi^{(n)}\{a + \theta_1(x-a)\}}{\varphi(a) + \frac{(x-a)}{1} \varphi'(a) + \frac{(x-a)^2}{2} \varphi''(a) + \dots + \frac{(x-a)^n}{n!} \varphi^{(n)}\{a + \theta_2(x-a)\}}$$

We have

$$\varphi(a) = 0 \text{ and } \psi(a) = 0$$

$$\Rightarrow \lim_{x \rightarrow a} \frac{\varphi(x)}{\psi(x)} = \lim_{x \rightarrow a} \frac{\frac{(x-a)}{1} \varphi'(a) + \frac{(x-a)^2}{2} \varphi''(a) + \dots + \frac{(x-a)^n}{n!} \varphi^{(n)}\{a + \theta_1(x-a)\}}{\frac{(x-a)}{1} \varphi'(a) + \frac{(x-a)^2}{2} \varphi''(a) + \dots + \frac{(x-a)^n}{n!} \varphi^{(n)}\{a + \theta_2(x-a)\}}$$

$$= \frac{\varphi'(a)}{\psi'(a)}$$

$$\Rightarrow \lim_{x \rightarrow a} \frac{\varphi(x)}{\psi(x)} = \lim_{x \rightarrow a} \frac{\varphi'(x)}{\psi'(x)}$$

Note ① Here we need not be differentiated as quotient. We differentiate numerator & denominator separately.

Note ② We have need to check that it will be form of $\frac{0}{0}$.

Note 3^o If $\phi(a) = \phi'(a) = \dots = \phi^{(n)}(a) = 0$

if $\psi(a) = \psi'(a) = \dots = \psi^{(n)}(a) = 0$

and $\phi^{(n)}(a)$ and $\psi^{(n)}(a)$ are not equal to 0 or $\pm \infty$ simultaneously.

We have
$$\lim_{x \rightarrow a} \frac{\phi(x)}{\psi(x)} = \lim_{x \rightarrow a} \frac{\phi^{(n)}(x)}{\psi^{(n)}(x)}$$

Note 4^o If $x \rightarrow \infty$ or $-\infty$; then we have

$x = \frac{1}{t} \rightarrow \infty$ or $-\infty$ as $t \rightarrow 0$

$$\lim_{x \rightarrow \infty} \frac{\phi(x)}{\psi(x)} = \lim_{t \rightarrow 0} \frac{\phi\left(\frac{1}{t}\right)}{\psi\left(\frac{1}{t}\right)}$$

$$= \lim_{t \rightarrow 0} \frac{\phi'\left(\frac{1}{t}\right) \cdot \left(-\frac{1}{t^2}\right)}{\psi'\left(\frac{1}{t}\right) \cdot \left(-\frac{1}{t^2}\right)}$$

$$= \lim_{t \rightarrow 0} \frac{\phi'\left(\frac{1}{t}\right)}{\psi'\left(\frac{1}{t}\right)}$$

$$\Rightarrow \lim_{x \rightarrow \infty} \frac{\phi(x)}{\psi(x)} = \lim_{x \rightarrow \infty} \frac{\phi'(x)}{\psi'(x)}$$

The determination of limit of indeterminate forms by this method is known as de L'Hospital's Rule.

Example 2 Prove that

$$\lim_{x \rightarrow 0} \frac{(1+x)^{\frac{1}{x}} - e + \frac{1}{2}ex}{x^2} = \frac{11}{24}e$$

Solution: Let $y = (1+x)^{1/x}$

$$\Rightarrow \log y = \frac{1}{x} \log(1+x) = \frac{1}{x} \left[x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \dots \right]$$

$$\Rightarrow \log y = 1 - \frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots$$

$$\Rightarrow y = e^{1 - \frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots}$$

$$y = e \cdot e^{-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots}$$

$$\Rightarrow y = e \cdot \left[1 + \left\{ -\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right\} \right]$$

$$+ \frac{1}{2} \left\{ -\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right\}^2 + \frac{1}{6} \left\{ -\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right\}^3 + \dots$$

$$\Rightarrow y = e - \frac{ex}{2} + \frac{ex^2}{3} + \frac{ex^2}{8} + \dots \text{ the terms of higher powers of } x.$$

$$\Rightarrow (1+x)^{1/x} = e - \frac{ex}{2} + \frac{ex^2}{3} + \frac{ex^2}{8} + \dots \text{ the terms of higher powers of } x.$$

$$\Rightarrow (1+x)^{1/x} - e + \frac{ex}{2} = \frac{11}{24} ex^2 + \dots \text{ the terms of higher powers of } x$$

$$\Rightarrow \frac{(1+x)^{1/x} - e + \frac{ex}{2}}{x^2} = \frac{11}{24} e + \dots \text{ the terms of higher powers of } x.$$

$$\Rightarrow \lim_{x \rightarrow 0} \frac{(1+x)^{1/x} - e + \frac{ex}{2}}{x^2} = \lim_{x \rightarrow 0} \left\{ \frac{11}{24} e + \dots \text{ the terms of higher powers of } x. \right\}$$

(0 form; either use L'Hospital's Rule or expansion method).

$$= \frac{11}{24} e + 0$$

$$= \frac{11}{24} e \quad (\text{Hence proved})$$

Exercise 8 Evaluate (i) $\lim_{x \rightarrow 0} \frac{\tan x - x}{x - \sin x}$ (ii) $\lim_{x \rightarrow 0} \frac{1 - \cos x}{3x^2}$